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4-p uipgh puy jpugutnt hudwp

11 vuimiph nhypnid
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11-35 3.5
36-37 4
38-39 4.5
40-41 5
42-44 5.5
45-46 6
47-48 6.5
49-50 7
51-52 7.5
53-54 8
55 8.5
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10-31 3
32-33 3.5
34-36 4
37-38 4.5
39-40 5
41-42 5.5
43-44 6
45-46 6.5
47-48 7
49-50 7.5
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9-29 3
30-31 3.5
32-34 4
35-36 4.5
37-38 5
39-40 5.5
41-42 6
43-44 6.5
45 7
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8-26 2.5
27-28 3
29-30 3.5
31-32 4
33-34 4.5
35-36 5
37-38 5.5
39-40 6

Uhwuquuhg 4-pn Jupg Yupbh kjpugul) twppuwnbtujuwshg 0,5 dhwynp wy k) hwjwpbint nwypnid:




3-pn Jupg jpugtbnt hwdwp’
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9-20 3
21-22 3.5
23-25 4
26-27 4.5
28-29 5
30-31 5.5
32-33 6
34-35 6.5
36-37 7
38-39 7.5
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8-17 2.5
18-20 3
21-22 3.5
23-24 4
25-26 4.5
27-28 5
29-30 5.5
31-32 6
33-34 6.5
35 7
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10-21 3
22-23 3.5
24-26 4
27-28 4.5
29-30 5
31-32 5.5
33-34 6
35-36 6.5
37-38 7
39-40 7.5
41-42 8
43-44 8.5
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11-24 3.5
25-26 4
27-28 4.5
29-30 5
31-33 5.5
34-35 6
36-37 6.5
38-39 7
40-41 7.5
42 8
43-45 8.5
46-47 9
48 9.5




2-nn Jupg jpugbnt hwdwp’
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9-11 3
12-13 3.5
14-16 4
17-18 4.5
19-20 5
21-22 5.5
23-24 6
25-26 6.5
27-28 7/
29-30 7.5
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11-13 3.5
14-15 4
16-17 4.5
18-19 5
20-22 5.5
23-24 6
25-26 6.5
27-28 7
29-30 7.5
31 8
32-34 8.5
35-36 9
37 9.5
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10-11 3
12-13 3.5
14-16 4
17-18 4.5
19-20 5
21-22 5.5
23-24 6
25-26 6.5
27-28 7
29-30 7.5
31-32 8
33-34 8.5




1-ht upgh puwy ;pugubnt hwdwp
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12-13 6
14-15 6.5
16-17 7
18-19 7.5
20 8
21-23 8.5
24-25 9
26 9.5
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11-12 5.5
13-14 6
15-16 6.5
17-18 7
19-20 7.5
21-22 8
23-24 8.5
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10-11 5
12-13 5.5
14-15 6
16-17 6.5
18-19 7
20-21 7.5

Uhwuquuhg 1-htt upg Jupbih k jpugutk] twpwntugwshg 1,0 dhwynp wdb) hwjwpkjnt nhuypnid:




Unyniuwjhg oqunylnt fupgp

* Quipg snikgnn (Wl 4-pnh pwy niikigng) - 5 gnpdwlhg

* 4-n1}, 3-nn, 2-pn Jupg (bwb 1-huh puy nitikgnn) - 4, 3, 2 gnpdwljhg
* 1-ht upg niukgny - 1 gnpduiljhg

1. @nuiwpk) wnugnnh dpguljhgutph jupgtpp

2. Zupyb] pYupwtwluts Uhohip

3. Unwugywé gnpéwljgny quniky, ph punugnnht putth inlnu k
hwplyuwynp Jupgp hwjuwptint hwdwn:



